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QUESTION 1

As the administrator of Cloud Insights, you installed the Acquisition Unit and configured the ONTAP Data Collector. You
successfully added an ONTAP 9.5 system for monitoring. When you add another FAS system, you receive the error
message shown below.

Error: "7 Mode filers are not supported"

In this situation, which statement Is correct?

A. You must use the correct admin level username and password.

B. You must configure the Data Collector for Data ONTAP /-Mode.

C. The communication between the Acquisition Unit and the ONTAP system gets blocked.

D. ONTAP Systems running In 7-Mode are not supported by Cloud Insights.

Correct Answer: C

QUESTION 2

You are modifying the service level from standard to premium.

In this situation, which two Cloud Volumes Service parameters are modified? (Choose two.)
A. megabytes per second

B. capacity per volume

C. IOPs per second

D. disk type

Correct Answer: A

QUESTION 3

You are your company\\'s public cloud administrator and you must deploy Cloud Volumes ONTAP for your
unstructured data.You want to use S3 storage for your replicated data.You are going to use data tiering to
move this data to S3.

In this scenario, which tiering policy would you use?

A. none

B. snapshot only

C. backup
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D. auto

Correct Answer: B

QUESTION 4

Click the Exhibit button.

You are the administrator of Azure NetApp Files. You want to secure the NFS mount for your volume so that only the
database server 10.10.8.14 can mount the volume.

Referring to the exhibit, to secure the volume, which two steps must you perform in the export policy? (Choose two.)
A. Add a new index for 0.0.0.0/0 Read Only.

B. Add a new Index for 10.10.8.14/32 Read and Write.

C. Modify Index 1 from Read and Write to No Access.

D. Delete index 1.

Correct Answer: AD

QUESTION 5

When configuring adaptive QoS, which two statements are true? (Choose two.)

A. A storage object can be a member of an adaptive policy group or a non-adaptive policy group, but not both.
B. Adaptive QoS policy groups are always not shared.

C. Adaptive QoS policy groups are always shared.

D. The ratio of throughput limits to storage object size is determined exclusively by setting expected-iops.

Correct Answer: CD
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